SOMME DE VECTEURS.

CAS 10 Px-7%00 &C.

BsoM.DE VECTEUVR"
Lkt 04
Rod
WN. VECITEUR"D
T 2Xx)

X<1=H60T0O 9D
Lbl 7 Pwa LJ
W=X+12260T0 27)
"Moo U .DIL REC =1

P o RbE 21V A

0>A~2 ]

”,J

1>y

YizsZSgoTo 'T1)
"MobU.DE ":W 4
P22z
DyeyrHI bPE -":Wwygy
Tay2
"K?Xx DE
7T

h7 M)
MTT<7%90->T)
(Z(e5 Y)xLos
(zcos V)xSIN T=2¢)
V(z*-(A?*+C?))»>B)
Le0TO ¢

QHIW‘

T=2A)

4272 byles.
Lbl 33
"XUPpE 35V a
175A
“v DE 9":W 4
T3

TZahE-whivwa

979

Lbl €4

Brog W

JTzg&60 TO (1)

aw T

£0TO 1)

RHINEN

"V Bey V4

] no.

li;o II.DJ‘

b-g>60TO0 #)

Tas™t ((EZD) 2D

u<ﬂ$u+ﬁeUJ

&? NJ

Lbl 2!V 4

Y TEE 4

ujollJ

EzgD60To ¢)
e TR



